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Question 1
Question Type: MultipleChoice

For the inter-AS model B VPRN, which of the following is FALSE when CE2 sends an IP packet to 192.168.1.1?

Options: 
A) PE2 pushes one label on the IP packet and forwards it to ASBR2.

B) ASBR2 forwards the IP packet with one label to ASBR1.

C) ASBR1 forwards the IP packet with two labels to PEL

D) PE1 forwards an unlabeled IP packet to CE1.

Answer: 
A

Question 2
Question Type: MultipleChoice



For the inter-AS model B VPRN, which of the following protocols is used to advertise routes between PE1 and ASBRI?

Options: 
A) iBGP

B) eBGP

C) MP-iBGP

D) MP-eBGP

Answer: 
C

Question 3
Question Type: MultipleChoice

For the inter-AS model A VPRN. BGP is used as the PE-CE routing protocol. Which of the following statements about the control plane

operation is TRUE?



Options: 
A) PE1 sends an IPv4 update for prefix 192.168.1.0/27 via MP-BGP to ASBR1.

B) ASBR1 sends an IPv4 update for prefix 192.168.1.0/27 to ASBR2.

C) ASBR1 transforms an IPv4 update for prefix 192.168.1.0/27 to a VPN-IPv4 route; allocates VPN label V1 and sends the update to

ASBR2.

D) ASBR2 accepts a VPN-IPv4 update from ASBR1, then sends the update to PE2 via MP-BGP.

Answer: 
B

Question 4
Question Type: MultipleChoice

Which of the following about the inter-AS model A VPRN configuration on ASBR1 is TRUE?

Options: 
A) The route-distinguisher value must be 64496:10 for successful VPRN operation.



B) An export policy is not required for successful VPRN operation.

C) The 'family vpn-ipv4' command is required under the BGP configuration for successful VPRN operation.

D) The neighbor address should be 10.10.10.4 under the BGP configuration for successful VPRN operation.

E) The VPRN configuration on ASBR1 is correct.

Answer: 
E

Question 5
Question Type: MultipleChoice

Router R4 is an Alcatel-Lucent 7750 SR configured for the extranet VPRN network. Which CLI command is executed on router R4 to

produce the displayed output?

Options: 
A) 'show router 10 route-table'

B) 'show router route-table'



C) 'show router 20 route-table'

D) There is no CLI command that can produce this output on router R4

Answer: 
B

Question 6
Question Type: MultipleChoice

An extranet VPRN is configured on Alcatel-Lucent 7750 SRs. On which router(s) should the displayed configuration be applied?

Options: 
A) Router R1

B) Router R2

C) Routers R1 and R2

D) Router R3

E) Router R4



Answer: 
B

Question 7
Question Type: MultipleChoice

PE3 learns Internet routes via its VRF interface to the Internet peering router and stores them in its Internet VRF. CE1 is connected to

the Red VPN and requires Internet access via its Red VRF interface. Which of the following statements do not fulfill this requirement?

Options: 
A) PE1 advertises the Red VPN routes and a default route to PE3.

B) The Internet VRF on PE3 imports the Red VPN routes advertised by PE1.

C) PE1 imports all Internet routes and advertises them to CE1 via the Red VRF.

D) PE3 advertises a default route from its Internet VRF instead of advertising all Internet routes.

Answer: 
A
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